® 2

6x—3=x+12

ox =15




® x=-2

=-10

@)«

@ x=-15

® x=10

@ x=-2




sk Totofer.

g(x—3)=g—12x
8(x=3)=9-3(1-x)
8x—-24=9-3+ 3x
ox =30

Lx=6




sfj7F

S ax-2=x+b0°]

4.

-2

@ a=-1,b

Da=1b=2

@D a=-1,b=2

@azl,b:—Q

®a=2b=-2




1

S

H
m_a

® 6,6
e 52 o
o

b-c
(Fc#0)

® a6
® 0,6,0

T
S
3 SEES) =

Q

SIS

a—=c¢

I

B!

Al
@ a=0bolH

© a=bolHa+c=b+c
@ a=0>b °|H ac = bc

© a=b o]
@ a=bolH

® 0,0

@e. @




A AA 4x -3 =x-6 9 N7t x =a, —(3x—4) = 2x— 16
N7t x=b & W, ab o] Fr& TStk
> E

> Heb: ab= -4

~&B ~

dx-3=x-6=2=49

dx—x=-6+3 —(3x—-4)=2x—-16 = =4H
3x=-3

x=-1

soa=-1

-3x+4=2x-16
—3x—-2x=-16-4
—5x = —20

x=4

~b=4

T ab = (~1) x 4 — —4 o]},




xofl TeE AZPFAF A 2(7-2x) = 30 9] et a9 gho] BT AAS A
o, a 9] gt& F-oteiet.

—4x =3a—-14
14 — 3a
T
x7} 2450l 2R 14 - 30’ 49| Hj50]ofoF Tk,
metA g =2 o, x = 25 W&t




3(2x+3) =2(x+2)
6x+9=2x+4

5
4x = — ==
X 5, X 1




3x—2_5x—|—4
o 1 4 6

5 ()
—a—ﬁx—l

Htx=-3<L W, a9 =

3x—2 5x+4_a_£x |
4 6 12

x=-32 gk
3x(=3)-2 5x(-3)+4

4 6
—a—%x(—S)
-9-2 -15+4 5
— =a-+ —
1t 11_6 5 !
Tt Tt

FHol 12 & Fotd
-33+422=12a + 15

—12a =15+ 11
—12a = 26, a = —%
13
a=——

6




telzt.

S

o, a 9 g2 T

.

ul

=x-3

1)2(2x-3)

x=1

Bl
Ife]
od

]_

1

i)x=1&2x-a=-3° t

2X1—-a

-3




11, 08 S40] o Tt AApg A9 u, 49 k3t u
e

1>

8x —ax? — 7 = 5x(a — 2x)

8x —ax? — 7 = 5x(a — 2x)
8x —ax? — 7 = 5ax — 10x?
(10 —a)x* 4+ (8 —=ba)x =7
10—-a=0, ..a=10

(8=50)x="7
—42x =7
i 1
SLX=—=

6




12. —‘:r—’.‘—aboﬂ tiste] ao b

3ab — (a+b) + 1 ©|2t1 &%

2{xo(-2) + (5020} =0 & WE5He x o] e
2{x0(-2)+ (502x)} =0 & 7159 &2 H|stH

2 (21x - 1)
1

..x:ﬁ

2{-6x—(x=2)+1+30x-(5+2x)+1} =0
2(=6x—x+30x—2x+2+1-5+1)=0
=0




1 -1 B} _
g XL X -2 9 8lEagoty, (x+2) : 2= (2x+3)

o o 1 2 - 3
of shg b2, a-b o] 3L

D)-17 @ -16 ® -8 @ -7

x+1 x—1

5 3 ol A
3(x+1)=2(x-1)-12
Lx=-17=a

(x+2) : 2= (2x+3) : 3°lA
2(2x+3) = 3(x +2)

4x+6 =3x+6

Lx=0=0b

La—-b=-17

03




14. 02 5 9] a7t A2 2 1, a o 3S Fofolal,
52x+1)=3(4x+3), 6+3x=-2(x+a)

®-4 @-2 00 @ ® 4

~&B

5(2x+1) = 3(4x+ 3)
10x+5=12x+9
2x = -4

x—=2

6+3x=-2(x+a)
64+ 3x=-2x—-2a
6+ 5x=—-2a
6—-10= -

a=2




2
x ol et A4 3x +a(x-2) =6 9] 7ty =1L of, % 9l

@3 @ 6 ®9 @ 12 ® 15

3x+a(x-2)=6°x=1-2HUstH
3+a(l1-2)=6

3—a=6

a=-3




